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1. 4B —Fis~(Figure 1) » Determine the magnitude and direction 6 of F4 so that the resultant
force is directed along the positive x axis and has a magnitude of 1250 N. (10%)

2. 3w —Ff~(Figure 2) - Determine the tension developed in wires C4 and CB required for
equilibrium of the 10-kg cylinder. Take 8=40°. (10%)
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3. 4B =s7~Figure 3) » Replace the loading by an equivalent resultant force and specify its
location on the beam, measured from point 4. (10%) :

4. 4= B v A7~ (Figure 4) » Determine the force P required to hold the 50-kg mass in equilibrium.
(10%)

E = (Figure 3)

El v (Figure 4)
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5. Jwo ] Z A7~ (Figure 5) » Draw the shear and moment diagrams for the compound beam. The
beam is pin connected at E and F. (20%)

6. 4w B <A (Figure 6) » Determine the friction force on the 40-kg crate, and the resultant normal
force and its position x, measured from point A, if the force is P=300 N. Take ps=0.5 and w=0.2.

(20%)
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7. 4o A~ (Figure 7) » Determine the moment of inertia of the composite area about the x axis,

and determine the moment of inertia of the composite area about the y axis.
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